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3000 [= 660,000 & 3,416,270 X 0 & A9,968,430]
= Bl EgE] 112,201,824/ 118,693,984 16,492,160 [JI  A600,000 = 0 o 0 ]
3200 [=2 660,000 & 3,416,270 X 0 & A9,968,430]
XIS A HIOH ] 112,201,824/ 118,693,984 ~A6,492,160| [JI  A600,000 = 0 0 ]
3210 [= 660,000 & 3,416,270 X 0 & A9,968,430]
NS A 112,201,824/ 118,693,984 26,492,160 [JI  A600,000 = 0 o 0 ]
3211 [= 660,000 & A41,500 Xl 0 = 0]
A HIA 2 2te| 38,383,495 37,764,995 618,500 [ 0 = 0 0 ]
200 [=2 660,000 &= A41,500 K 0 0]
AHS Ol A 38,116,220 37,497,720 618,500 [ 0 2 0 o 0 ]
210 [= 660,000 & 0 X 0 = 0]
BXAIY 32,743,331 32,083,331 660,000 [ 0 = 0 0 ]
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82 A Y| 40,898 38,000 2,898
40,898 38,000 2,898/01 Lty
oNUXIZEY = 40,898,0002 - 38,000,000 = 2,898
(=) 2,898
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o H 9,102 12,000 A2,808
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9,102,0002 - 12,000,000 A2,898
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403
KX SIS 31,359,545 30,699,545 660,000
el ™
31,359,545 30,699,545 660,000|01 KIXISHHIX=2E =
OTHEHAI R A HSIAIY (A2 H Ol A) 660,000
(=) 660,000
- HOF ZAAIE PRI BZSAIY
500,000,000 x 60% 300,000
(2) 300,000
S HOF HAEUAIE BIFISIALY
100,000,000 x 60% 60,000
(=) 60,000
A SR EUAE RRNLHBS ALY
500,000,000 x 60% 300,000
(2) 300,000
220
KR AFSS 5,372,889 5,414,389 241,500
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0I2HO| A 471,239 512,739 241,500
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28801 o 1,081,520 1,173,520 A92,000
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2 A= 2| 1,081,520 1,173,520 £92,000
202
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54,600 136,600 A82,000 04 98I EE 01|
o QIBIEH Ol 54,600,002 - 136,600,008 =  A82,000
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44,000 54,000 £10,000/07 ©12+01=2/04H|
SRR 44,000,008 - 54,000,000 = 10,000
200 (= 0 & 40,000 X 02 31,570
A0l & 5,118,478) 5,046,908 71,570, [l 0 = 0 o 0 ]
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OPMAIE T2RE 32
24,570,0002 - 18,000,000 = 6,570
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o H 32,000 22,000 10,000
17,000 12,000 5,000/01 20
ofM N& ZZNME 234
17,000,000 - 12,000,000% = 5,000
() 5,000
15,000 10,000 5,000/03 =22/ 04H|
OPMAIE HERHME 43 DR
15,000,0002 - 10,000,000 = 5,000
() 5,000
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0I2H0| & 472,500 457,500 15,000
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() 15,000
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XHHIAHS 3,811,008 3,771,008 40,000
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B2 Y| 374,729 334,729 40,000
374,729 334,729 40,000(01 LBr2AY
2 HAE QAES (22 40,000
3213
Il X 2e) 42,718,580 44,348,080 ~A1,629,500
200
AR Ol A 42,570,950 44,200,450| A 1,629,500
220
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cEY =RC Hols 2Y(USBE) - 2,000
403
XX EHS 11,730,250 13,330,250 A 1,600,000
yEES
11,190,250 12,790,250 A1,600,000(01 RIXSHAHAZ2EX
SXYINAOIH AN EES
400,000,000& - 2,000,000,000& = A 1,600,000
3214 =2 0 & 5,151,000 Xl 0 = 210,000,000]
WErarA 22| 24,079,560 29,528,560 A5,449,000 [D] A600,000 =2 0 0 ]
200 [= 0 & 5,151,000 Xl 0 & 2A10,000,000]
AR Ol & 23,889,040 29,338,040 N5,449,000 [D] A600,000 &= 0 0 ]
210 = 0 & 600,000 X 0 2 A10,000,000]
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20,000,000% x 1JH CHSt = 20,000
oEL-YIIMMHETH = 5,000,000
SHIH = X A = 91,000
ORI S AHROF AT =TI BHE & ALY
50,000,0008 x 2IH &I = 100,000
oMSHAZAMSTHE At
290,000,000%! - 350,000, 0002 = 60,000
403
TR SIS 600,000 0 600,000
R0l &
600,000 0 600,000(01 XtXIEHHIR 22 =
SEUMN AEA AY = 600,000
3215
HESATAASA 820, 191 831,921 A11,730
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9,840 9,360 480(03 A ZAlH|
oHUZAY BEE 9,840,000% - 9,360,0008 = 480
14,062 18,062 £4,000(05 = EIH|
S3=E-EIL 14,062,0002! - 18,062,008 = A4,000
20,101 30,101 £10,000(06 JHHIXI 21l
EPIF L] 20,101,0008 - 30,101,0008 = £10,000
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24| 358,330 356,540 1,790
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NoLHY 74,110 72,320 1,790
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